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1. ���%���� � $���&�. 

 

1.1 �47=4G5=<5 <745?<O 

1.1.1 -�'  «�D5<L5D4 $GE4» 380 (E ?4D>75=5D4F>D><) (44?55 ?> F5>EFG 
'EFD>=EF6>) ?D54=47=4G5=> 4?O E>744=<O < ?>445D64=<O =5>5E>4<<>7> 
F5<?5D4FGD=>-6?46=>EF=>7> D56<<4  6 ?4D<?L=>< ?><5M5=<<.       

 

1.2 &5E=<G5E><5 E4D4>F5D<EF<>< 

'EFD>=EF6> E>EF><F <7 46GE DG=>F<>=4?L=OE G4EF5= (E<. D<E.1): 

÷ M?5>FD<G5E>>7> =47D564F5?O (44?55 ?> F5>EFG -�); 

÷ 6O=>E=>7> ?G?LF4 G?D46?5=<O (44?55 ?> F5>EFG �').  
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1.2.1 &5E=<G5E><5 E4D4>F5D<EF<>< -� 

 

�4<<5=>64=<5 �4<=<F4 
<7<5D5=<O 

�>D<O, ?4D4<5FDO 

�><<=4?L=4O ?>FD55?O5<4O 
<>M=>EFL *        

>�F 12,0 18,0 

$5>><5=4G5<O= >5NU< 

>5>7D5645<>7> ?><5M5=<O      <3
 10-15 15-20 

$5>><5=4G5<O= 

=><<=4?L=O= F>> 74M<F=>7> 
46F><4F4  

� 25 40 

%5G5=<5 E<?>6OE < 

7475<?ONM<E ?D>6>4>6  <<2 
 2,5 4,0 

�4?DO65=<5 ?<F4=<O � 380 

�454D<F=O5 D47<5DO << 580E600E650 

�4EE4 ?5G<  >7 32 

$5>><5=4G5<4O <4EE4 
>4<=5= 

>7 =5 <5=55 150 

$>4 F>>4  ?5D5<5==O= 

$56<< D45>FO   ?D>4>?6<F5?L=O= 

�?4EE 74M<FO >F ?>D465=<O 
M?5>FD<G5E><< F>>>< 

 
1 

�E?>?=5=<5 ?> EF5?5=< 

74M<FO >F 6?47< 
     IPX4 

�E?>?=5=<5 ?> E?>E>5G 
GEF4=>6>< 

 =4?>?L=>5 

 

* '>474==4O <>M=>EFL  4>EF4F>G=4 4?O >5>7D564 ?><5M5=<O 
E>>F65FEF6GNM57> >5N5<4 ?D< GE?>6<< 57> MDD5>F<6=>= F5D<><7>?OF<< < 

=4?<G<< ?<F4NM57> =4?DO65=<O =5 =<65 =><<=4?L=>7>. 
 

 

 

1.2.2 &5E=<G5E><5 E4D4>F5D<EF<>< �' 

1.2.2.1 &5E=<G5E><5 E4D4>F5D<EF<>< �' <7?>65=O 6 $G>>6>4EF65 ?> 
M>E??G4F4F<< E>>F65FEF6GNM57> ?G?LF4 G?D46?5=<O. 
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1.3 %>EF46 <745?<O 

7 ?? �4<<5=>64=<5 
�4<=<F4 
<7<5D5=<O 

�>?<G5EF6> 

1 -?5>FD>=47D564F5?L=>5 
GEFD>=EF6>                      

  

   -  =4DG6=>5 >7D4645=<5 6 E5>D5    LF 1 

              - 5?>> &-�>6 LF 1 

2 �G?LF G?D46?5=<O* LF. 1 

3 $G>>6>4EF6> ?> M>E??G4F4F<< LF 1 

4 '?4>>6>G=4O F4D4 LF 1 <?< 2* 

 

 �D<<5G4=<5: *- ?D<>5D5F45FEO 74 >F45?L=GN ??4FG.     
      

1.4 'EFD>=EF6> < D45>F4 <745?<O 

1.4.1 �>=EFDG>F<O -� >5?4445F DO4>< >D<7<=4?L=OE F5E=<G5E><E D5L5=<=, 

?>76>?ONM<E 6 D56<<5 =>D<4?L=>7> ?D>7D564 ?4D=>7> ?><5M5=<O 
MDD5>F<6=> ?>?GG4FL <5?>>4<E?5DE=O= ?4D < D57G?<D>64FL 6?46=>EFL 6 
?4D<?L=>< ?><5M5=<<.  

1.4.2 -?5>FD<G5E><= =47D564F5?L (-�) E>EF><F <7 5?>>4 &-�>6 (?>7.1 D<E.2) 

< =4DG6=>7> >7D4645=<O (?>7.2 D<E.2). 

�?>> &-�>6 ?D54EF46?O5F E>5>= >E=>64=<5 >>D>5G4F>7> E5G5=<O <7 
=5D6465NM5= EF4?<,  =4 >>F>D>< D4E?>?>65=O  FDG5G4FO5 M?5>FD<G5E><5 
=47D564F5?<   (?>7.3 D<E.2)   <>M=>EFLN 1,0 <?< 2,0 >�F 6 D47?<G=OE 
>><5<=4F<OE, 6 746<E<<>EF< >F <>M=>EF< 'EFD>=EF64. 
�4 5?>>5 &-�>6  F4>65 D4E?>?>65=4 EF4?L=4O 5<>>EFL E >DOL>>= (?>7.4 

D<E.2), 74?>?=5==4O >4<=5< 4?O ?4D>>5D47>64=<O <  >5>7D5645<4O 
>F45?L=O< &-�><.  �=4<6<4G4?L=O= ?>4>7D56 >4<=O, =4E>4OM57>EO 6 MF>= 

5<>>EF<, >55E?5G<645F 5>?55 6OE>>GN 57> F5<?5D4FGDG, GF> 5?47>?D<OF=> 
E>47O645FEO =4 >4G5EF65 ?4D4. 
 �=GFD< 5<>>EF< <<55FEO  EF4>4= <7 =5D6465NM5= EF4?< E  6<>=F<D>64==O< 

6 =57>  F5??>4>>G<G?OF>D<(?>7.5 D<E.2). �D< M>E??G4F4F<< ?5G< 74?<F4O 6 
EF4>4= 6>44 =5?D5DO6=> ><?<F, G6?46=OO 6>74GE ?4D=>7> ?><5M5=<O.  � 

=<6=5= G4EF< 5?>>4 &-�>6 D47<5M5= >?5<<=<>  4?O ?>4>?NG5=<O -� > 
�'. �?>> &-�>6 GEF4=46?<645FEO 6 ?D>5< =<6=57> ?<EF4 =4DG6=>7> 
>7D4645=<O. �4DG6=>5 >7D4645=<5 6O?>?=5=> 6 6<45 E5>D=>= >>=EFDG>F<< 

<7 EF4?L=>7> ?D>>4F4 < >>D4L5=> 64D>EF>=>>= M<4?LN. �=GFDL >7D4645=<O 
G>?44O645FEO >>?>FO= >4<5=L (745D>4<4547, F4?L>>E?>D<F <?< >64DF<F).  
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1.4.3 '?D46?5=<5 GEFD>=EF6>< >EGM5EF6?O5FEO E ?><>MLN 6O=>E=>7> 
?G?LF4 G?D46?5=<O (�'), ?>76>?ONM57> 744464FL < ?>445D6<64FL 
=5>5E>4<<GN F5<?5D4FGDG 6 ?><5M5=<<, 4 F4>65 >7D4=<G<64FL 6D5<O 
=5?D5DO6=>= D45>FO GEFD>=EF64. $5>><5=4G5FEO <E?>?L7>64FL ?G?LFO 

G?D46?5=<O ?D><76>4EF64 ��� «�=6>><F5=FD ���» <>45?<  

«�'»(F<DD>6>=) <?< «�'03�3»(4=4?>7>6O=) . �>?GE>45FEO <E?>?L7>64=<5 
E5DF<D<F<D>64==OE ?G?LF>6 G?D46?5=<O EF>D>==<E ?D><76>4<F5?5= E 
>5O74F5?L=O< E>5?N45=<5< E>>F65FEF6<O >><<GF<DG5<>= <<<  <>M=>EF< < 

<>M=>EF< -�. 

 

 

$<E.2 

 

 

 

1.5 �>=FD>?L=>-<7<5D<F5?L=O5 ?D<5>DO 

1.5.1 �>=FD>?L F5<?5D4FGDO 6 ?4D<?L=>< ?><5M5=<< >EGM5EF6?O5FEO E 
?><>MLN <7<5D<F5?L=>7> GEFD>=EF64 �'.  

 

1.6 �4D><D>6>4 < ??><5<D>64=<5 
1.6.1 �4D><D>6>4 =4=5E5=4 =4 L<?L4, D4E?>?>65==O= =4 >>D?GE5 -�.  

1.6.2 �4D><D>6>4 E>>F65FEF6G5F FD55>64=<O< EF.5 &$ &% 004/2011 < 

E>45D6<F E?54GNM<5 44==O5: 
�  GE?>6=>5 >5>7=4G5=<5 (F<?) GEFD>=EF64, 
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�  F>64D=O= 7=4> <?< =4<<5=>64=<5 ?D54?D<OF<O-<77>F>6<F5?O, 
�  746>4E>>= =><5D, 
�  <>M=>EFL GEFD>=EF64 6 ><?>64FF4E,  
�  =><<=4?L=>5 =4?DO65=<5 ?<F4NM5= E5F< 6 6>?LF4E, 
�  <4EEG GEFD>=EF64 6 ><?>7D4<<4E, 
�  7>4 <77>F>6?5=<O, 
�  EFD4=4 <77>F>6?5=<O, 
�  >5>7=4G5=<5 F5E=<G5E><E GE?>6<=, 

� 54<=O= 7=4> >5D4M5=<O ?D>4G>F<< =4 DO=>5 7>EG44DEF6-G?5=>6 
&4<>65==>7> E>N74. 
1.6.3 �?><5<D>64=<5 'EFD>=EF64 =5 ?D54GE<>FD5=>. 
 

1.7 '?4>>6>4  
1.7.1 '?4>>6>4 'EFD>=EF64 ?D><76>4<FEO 6 >>D>5>< <7 7>DD>>4DF>=4 < 

45D56O==GN F4DG.  
1.7.2 '?4>>6>4 < >>=E5D64F<O GEFD>=EF64 E>>F65FEF6GNF FD55>64=<O< D474.3  

��%& 23216 4?O GE?>6<= FD4=E?>DF<D>64=<O, ED4=5=<O < ED>>>6 
E>ED4==>EF<. 

 

2. �%���,������� ������/ 

 

2.1 �>47>F>6>4 ?><5M5=<O ?5D54 <E?>?L7>64=<5< <745?<O. %F5=O < 

?>F>?>> ?4D=>7> ?><5M5=<O 4>?6=O <<5FL E>D>LGN F5??><7>?OF<N. 

�4F5D<4?O, 4>>G<G?<DGNM<5 F5??> (??<F>4, LFG>4FGD>4), E?54G5F 
4>?>?=<F5?L=> F5??><7>?<D>64FL. �><5M5=<5 ?4D=>= <?< E4G=O 

D5>><5=4G5FEO >5L<FL 45D56><. �5>5E>4<<> ?><=<FL, GF> <E?>?L7>64=<5 
45>>D4F<6=OE F5??>U<><E <4F5D<4?>6 (>4<5=L, ><D?<G, ??<F>4 < F.4.) 6 
>4G5EF65 F5??>4>>G<G?<DGNM<E M?5<5=F>6, FD55G5F 4>?>?=<F5?L=>7> 
6D5<5=< < M?5>FD>M=5D7<< =4 <E D47>7D56. 
 

2.1.1 �5DO 557>?4E=>EF< 

2.1.1.1 % F5?LN =5G>>E=<F5?L=>7> E>5?N45=<O ?D46<? ?>64D=>= < 

M?5>FD>557>?4E=>EF<, ?>4>?NG5=<5 'EFD>=EF64 4>?6=> ?D><76>4<FEO 
M?5>FD>F5E=<G5E><< ?5DE>=4?><, <<5NM<< 4>?GE> > D45>F5 E 
M?5>FD>GEF4=>6>4<< 4> 1000�.  

2.1.1.2 -?5>FD<G5E>4O ?D>6>4>4 4>?6=4 5OFL 6O?>?=5=4 6 E>>F65FEF6<< E 
=>D<4<< �'- < �&�. 

2.1.1.3 �D<5<>4 'EFD>=EF64 6 M>E??G4F4F<N 4>?6=4 ?D><76>4<FLEO E 
>D>D<?5=<5< E>>F65FEF6GNM57> 4>F4. 
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2.1.1.4 �4?D5M45FEO GEF4=46?<64FL 'EFD>=EF6> 6 ?><5M5=<OE, =5 
>F65G4NM<< FD55>64=<O< ?>64D=>= 557>?4E=>EF<  (%�<� 31-05-2003, 

��%� 4.04-94).  

2.1.1.5 �>M=>EFL 'EFD>=EF64 4>?6=4 E>>F65FEF6>64FL >5NU<G ?4D<?L=>7> 
?><5M5=<O.    
2.1.1.6 $4EEF>O=<5 >F >>D?GE4 -� 4> >5L<6>< EF5= 4>?6=> 5OFL =5 <5=55 
200 <<, 

2.1.1.7 �OE>F4 ?4D<?L=>7> ?><5M5=<O =5 4>?6=4 5OFL <5=55 1,9 <. 

2.1.1.8 $4EEF>O=<5 ?> 65DF<>4?< <564G 65DE=5= G4EFLN -� < ?>F>?>>< 

?><5M5=<O 4>?6=> 5OFL =5 <5=55 1,0 <5FD4. 
2.1.1.9 'G4EF>> ?>?4, =4 >>F>DO= GEF4=46?<645FEO -�, < GG4EF>< EF5=, >>>?> 
-� 4>?6=O 5OFL 74M<M5=O =5E7>D45<O<, F5??><7>?<DGNM<< <4F5D<4?><.  

2.1.1.10 �>F>?>> =44 -� 4>?65= 5OFL 74M<M5= F5??><7>?OF<>==O< M<F>< 

<7 =57>DNG57> <4F5D<4?4. $4EEF>O=<5 <564G ?>F>?>>< < M<F>< 4>?6=> 
5OFL =5 <5=55 50,0 <<. &5??><7>?<DGNM<5 ?<EFO < <4F5D<4?O 6 >><??5>F 
?>EF46>< =5 6E>4OF < ?D<>5D5F4NFEO >F45?L=>. 
2.1.1.11 �><5M5=<5, 6 >>F>D>< GEF4=46?<645FEO -� 4>?6=> <<5FL 
65=F<?OF<N. �D<F>> < 6OFO6>4 D4E?>?474NFEO 6=<7G < 665DEG ?> 4<47>=4?<  

?><5M5=<O, <E>?NG4O G7>?, 6 >>F>D>< GEF4=46?<645FEO -�. 

2.1.1.12 � ?><5M5=<5 4>?GE>45FEO <E?>?L7>64=<5 F>?L>> >4=>7> -�. 

2.1.1.13 �455?L, E ?><>MLN >>F>D>7> 6O?>?=O5FEO ?>4>?NG5=<5 -� > �',  

4>?65= 5OFL 6 F5D<>EF>=>>= <7>?OF<<  F<?4 SiHF/GL-P. $>EE<=E><5 
4=4?>7<: ����, $���, ���% <?< 4D. %5G5=<O 6<? >455?O 4>?6=> 5OFL =5 
<5=55 G>474==>7> 6 D474.1.2.2 �4EF>OM57> $G>>6>4EF64. �>=FO 6<? >455?O, 
?>4>?NG45<O5 > -� < �', 4>?6=O 5OFL >5?G65=O <?< >E=4M5=O 

E?5F<4?L=O<< =4>>=5G=<>4<<. 

2.1.1.14 �4?D5M45FEO M>E??G4F4F<O 'EFD>=EF64 557 74M<F=>7> 
46F><4F<G5E>>7> 6O>?NG4F5?O. �?O ?>4>?NG5=<O 'EFD>=EF64 E?54G5F 
?D54GE<>FD5FL 46F><4F<G5E><= 6O>?NG4F5?L E =><<=4?L=O< D45>G<< 

F>>><, E>>F65FEF6GNM<< ?>FD55?O5<>= 'EFD>=EF6>< <>M=>EF<. 

 

 
�>M=>EFL 'EFD>=EF64 12 >�F 18>�F 
$5>><5=4G5<O= 

=><<=4?L=O= F>> 
74M<F=>7> 
46F><4F<G5E>>7> 
6O>?NG4F5?O 

25 � 40� 

 

�6F><4F<G5E><= 6O>?NG4F5?L 4>?65= 5OFL 4<DD5D5=F<4?L=O< E 
=><<=4?L=O< 7=4G5=<5< >F>?NG4NM57> 4<DD5D5=F<4?L=>7> F>>4 30 <�, 
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?<5> ?>E?5 74M<F=>7> 46F><4F<G5E>>7> 6O>?NG4F5?O 6 ?<=<< 4>?6=> 5OFL 
GEF4=>6?5=> GEFD>=EF6> 74M<F=>7> >F>?NG5=<O ('��) E G>474==O< 

=><<=4?L=O< 7=4G5=<5< >F>?NG4NM57> 4<DD5D5=F<4?L=>7> F>>4. 
�>4>?NG5=<5 > 46F><4F<G5E>><G 6O>?NG4F5?N <=OE ?>FD55<F5?5=  

74?D5M45FEO. 
. 

2.1.1.15 �4?D5M45FEO M>E??G4F4F<O -� 557 �'. 

2.1.1.16 -� 4>?65= 5OFL =4456=> 7475<?5=. 

2.1.1.17 �5D54 6>?NG5=<5< 'EFD>=EF64 =5>5E>4<<> G554<FLEO 6 >FEGFEF6<< 

?>EF>D>==<E ?D54<5F>6 =4 -� < 6=GFD< =57>. 
2.1.1.18 ->E??G4F4F<O -� ?D><76>4<FEO F>?L>> 6 65DF<>4?L=>< ?>?>65=<<.  

 

��������!!! 

 

 % F5?LN =5G>>E=<F5?L=>7> E>5?N45=<O ?D46<? ?>64D=>= < 

M?5>FD>557>?4E=>EF<, ?>4>?NG5=<5 �' < M?5>FD>=47D564F5?L=>7> 
GEFD>=EF64 4>?65= ?D><76>4<FL M?5>FD>F5E=<G5E><= ?5DE>=4?, 

<<5NM<= 4>?GE> > D45>F5 E M?5>FD>GEF4=>6>4<< 4> 1000�  < 7DG??G 

?> M?5>FD>557>?4E=>EF< =5 =<65 III. 

-?5>FD>?D>6>4>4 4>?6=4 5OFL 6O?>?=5=4 6 E>>F65FEF6<< E 
=>D<4<< �'-.  

 

2.1.2 �>47>F>6>4 GEFD>=EF64 > D45>F5 
2.1.2.1 �E>DOFL F4DG, ?D>65D<FL >><??5>F=>EFL, G44?<FL 74M<F=O5 < 

G?4>>6>G=O5 <4F5D<4?O. 

2.1.2.2 'EF4=>6<FL -� 6 ?><5M5=<< 54=< <?< E4G=O. 

2.1.2.3 'EF4=>6<FL �', =4 6OE>F5 >>>?> 1,5 <5FD4 6=5 ?4D<?L=>7> 
?><5M5=<O, 6 EGE><, ?57>>4>EFG?=>< 4?O 6<7G4?L=>7> >>=FD>?O < 

>5E?G6<64=<O <5EF5.  
2.1.2.4 'EF4=>6<FL 44FG<>  F5<?5D4FGDO 6 ?><5M5=<< 54=< <?<  

E4G=O 6 7>=5 ?D<=OF<O ?D>F54GD, ?D<<5D=> =4 GD>6=5 7>?>6O E<4OM57> =4 
65DE=5= ?>?>5 G5?>65>4. �5 4>?GE>45FEO GEF4=>6>4 44FG<>4 6 
=5?>ED54EF65==>= 5?<7>EF< >F -� < 6E>4=>= 465D< 6 ?4D=>5 ?><5M5=<5 
<?< =44 =<<<.  
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$<E.3 

2.1.2.5  �O?>?=<FL ?>4>?NG5=<O M?5>FD<G5E><E >455?5= 6  E>>F65FEF6<< E 
$G>>6>4EF6>< ?> M>E??G4F4F<< �' < D<E3. 

-� ?>4>?NG45FEO > �' >455?5<  6 F5D<>EF>=>>= <7>?OF<< F<?4: $���,  

$���, �$�% <?< 4=4?>7<G=O<, E5G5=<5< =5 <5=55 G>474==>7> 6 ?. 1.2.2 

�4EF>OM57> $G>>6>4EF64. 
2.1.2.6   �D><765EF< 74?>?=5=<5 -� >4<=O<< 4?O ?4D>>5D47>64=<O. '>?44>G 
>4<=5= E?54G5F ?D><76>4<FL E >EF>D>6=>EFLN, =5 4>?GE>4O <77<5>6 FDG5>> 
&-�>6. 
 

2.2 ->E??G4F4F<O GEFD>=EF64 
 

2.2.1 �5DO 557>?4E=>EF< 

2.2.1.1 'EFD>=EF6> >F=>E<FEO > M?5>FD<G5E><< GEF4=>6>4<, ?>MF><G 6 
?D>F5EE5 M>E??G4F4F<< =5>5E>4<<> E>5?N44FL 6E5 =>D<O < ?D46<?4 
45=EF6GNM<E 4>>G<5=F>6 ?> F5E=<>5 557>?4E=>EF< < ?>64D=>= 

557>?4E=>EF< M?5>FD>GEF4=>6>>. 
2.2.1.2 �5 4>FD47<64=F5EL 4> -� 6 =47D5F>< E>EF>O=<< 3 MF> <>65F 6O764FL 
>6>7. 
2.2.1.3 �5 >EF46?O=F5 6 E4G=5 45F5= 557 ?D<E<>FD4. 
2.2.1.4 % >EF>D>6=>EFLN ?>4464=F5 6>4G =4 >4<=<. �5D47GNM<=EO ?4D 
<>65F 6O764FL >6>7 
2.2.1.5 �5 =4>DO64=F5 -� =<>4><<< ?D54<5F4<<. 

2.2.1.6 �5 74FDG4=O=F5 F<D>G?OF<N 6>74GE4 6>>DG7 -�. 

2.2.1.7 �5 <E?>?L7G=F5 'EFD>=EF6> 6 E?GG45 57> ?>6D5645=<O (?>O6?5=<5 
?>EF>D>==57> 74?4E4, 4O<4, 6>77>D4=<O < F.4.).  
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2.2.1.8 �5 <E?>?L7G=F5 D4EF6>D<F5?< 6 >4G5EF65 G<EFOM57> ED54EF64 4?O 
GE>44 74 -�.  

2.2.1.9 �5 74>DO64=F5 44FG<> F5<?5D4FGDO =<>4><<< ?D54<5F4<<.  

2.2.1.10 �4?D5M45FEO M>E??G4F4F<O 'EFD>=EF64 ?D< =5<E?D46=>< �'. 

2.2.1.11 � E?GG4OE =5<E?D46=>EF< -� <?< �', =5<54?5==> >F>?NG<F5 
'EFD>=EF6> E ?><>MLN 66>4=>7> 74M<F=>7> 46F><4F<G5E>>7> 6O>?NG4F5?O. 
�D<<<F5 <5DO > 57> >64?<D<F<D>64==><G D5<>=FG. 
 

2.2.2 �>DO4>> D45>FO 

2.2.2.1 �>?NG<FL 74M<F=O= 46F><4F<G5E><= 6O>?NG4F5?L 6=5L=5= E5F<  

��. 

2.2.2.2 �464F<5< >?46<L< =4  ?G?LF5 G?D46?5=<O 6>?NG<FL 'EFD>=EF6>.  
2.2.2.3 �4?L=5=L55 G?D46?5=<5 'EFD>=EF6>< >EGM5EF6?O5FEO 6 
E>>F65FEF6<< E $G>>6>4EF6>< ?> M>E??G4F4F<< ?G?LF4 G?D46?5=<O. 
2.2.2.4 �D< ?5D6>< F5E=<G5E>>< 6>?NG5=<< -� 6>7<>6=> ?57>>5 
744O<?5=<5 < ?>O6?5=<5 74?4E4. � MF>< E?GG45  >F>?NG<F5 'EFD>=EF6> < 

?D>65FD<F5 ?><5M5=<5. �>E?5 MF>7> E=>64 6>?NG<F5 'EFD>=EF6>. 
2.2.2.5 � 44==>= <>45?< M?5>FD>?5G< EF4=44DF=O= D56<< 46F><4F<G5E>>7> 
D57G?<D>64=<O F5<?5D4FGDO 6 ?4D<?L=>< ?><5M5=<< 4>?>?=5= 

6>7<>6=>EFLN ?>?GG5=<O 6OE>>>MDD5>F<6=>7> <5?>>4<E?5DE=>7> ?4D4 <7 
E?5F<4?L=> >5>DG4>64==>= ?4D>6>= 5<>>EF<, 4 F4>65 E ?><>MLN 

6EFD>5==>7> 6 MFG 5<>>EFL F5??>6>7> 4>>G<G?OF>D4 6>7<>6=>EFLN 

<=4<6<4G4?L=>7> D57G?<D>64=<O F5<?5D4FGD=>-6?46=>EF=>7> 54?4=E4 6 
?4D<?L=>< ?><5M5=<< 6 E>>F65FEF6<< E ?>65?4=<O<< ?>?L7>64F5?O 
 

2.2.3  �>7<>6=O5 =5<E?D46=>EF< < <E GEFD4=5=<5 
�=5L=<5 ?D<7=4>< 

=5<E?D46=>EF< 
�5D>OF=4O ?D<G<=4 �5F>4O GEFD4=5=<5 

'EFD>=EF6> 6>?NG5=> , 
=> =47D564 =5 
?D><EE>4<F, =5F 
E65G5=<O E65F>4<>4>6 
=4 ?5D54=5= ?4=5?<. 

�FEGFEF6G5F =4?DO65=<5
6 M?5>FD<G5E>>= E5F< 

�D>65D<FL, 
<E?D46=>EFL E5F< 

&5<?5D4FGD4 6  
?><5M5=<< =5 
4>EF<745F 7444==>= 

�4?DO65=<5 ?<F4=<O 
=<65 =><<=4?L=>7> 

�D<=OFL <5DO > 
=>D<4?<74F<< 

?<F4NM57>  
=4?DO65=<O  
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&5<?5D4FGD4 6 ?4D=>= 

=5 D57G?<DG5FEO 

�5DO6   <?< >>D>F>>5 
74<O>4=<5 6 F5?<  

44FG<>4 F5<?5D4FGDO 

'EFD4=<FL >5DO6 <?< 

>>D>F>>5 74<O>4=<5  

 

2.2.4 �5=EF6<O 6 M>EFD5<4?L=OE GE?>6<OE 
2.2.4.1 � E?GG45 6>7=<>=>65=<O G7D>7O 6<7=< ?N45= <?< G7D>7O ?>64D4, 
=5746<E<<> >F ?D<G<= <E 6>7=<>=>65=<O, E?54G5F: 
 -  =5<54?5==> >F>?NG<FL -�' 46F><4F<G5E><< 6O>?NG4F5?5< 6=5L=5= 

E5F< ��; 

- M64>G<D>64FL ?N45= <7 ?><5M5=<O, 745 D4E?>?>65=> GEFD>=EF6>; 
- 6O764FL ?D>F<6>?>64D=GN E?G65G < E?G65G E>>D>= <54<F<=E>>= 

?><>M<; 

 - ?D<=OFL <5DO ?D>F<6 D4E?D>EFD4=5=<O ?>64D4. 
 

3. &�%��'�%��� ��%�'������� 

 

3.1 �D< F5E=<G5E>>< >5E?G6<64=<< 'EFD>=EF64 E?54G5F 6O?>?=OFL 
E?54GNM<5 6<4O D45>F: 
3.1.1 �G<EF>4 6=5L=5= ?>65DE=>EF< 'EFD>=EF64 3 D57G?OD=>; 
3.1.2 �E<>FD >4<=5= 4?O ?4D>>5D47>64=<O, <E 45D5>F4F<O, 74<5=4 3 2 D474 6 
7>4. 

3.1.3 �D>65D>4 E>EF>O=<O F5?< 7475<?5=<O < =4456=>EFL E<?>6OE >>=F4>F>6 
=4 -� < �' 3 2 D474 6 7>4; 
3.1.4 �E5 D45>FO ?> >G<EF>5, D5<>=FG -� < �' E?54G5F ?D>6>4<FL F>?L>> 
?D< <E >F>?NG5=<< >F E5F<. 

3.1.5 �5E?G6<64=<5 -�' ?> ?. 3.1.3 4>?6=> ?D><76>4<FEO 
M?5>FD>F5E=<G5E><< ?5DE>=4?><, <<5NM<< 4>?GE> > D45>F5 E 
M?5>FD>GEF4=>6>4<< 4> 1000�. 

 

4. %$������ � &$��%��$&�$������ 

 

4.1. �> GEF4=>6>< =4 <5EF> M>E??G4F4F<< 'EFD>=EF6> 4>?6=> ED4=<FLEO 6 
G?4>>64==>< 6<45. 
4.2. &D4=E?>DF<D>6>4 -�' 6 G?4>>64==>< 6<45 ?D><76>4<FEO ?N5O< 6<4>< 

FD4=E?>DF4 74>DOF>7> F<?4. �D< FD4=E?>DF<D>6>5 -�' 4>?6=> 5OFL 
74>D5??5=> F4><< >5D47><, GF>5O <E>?NG<FL 57> ?5D5<5M5=<5 < 

>?D>><4O64=<5. 
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5. '&�����&�/ 

 

5.1 'EFD>=EF6> =5?L7O GF<?<7<D>64FL 6<5EF5 E 5OF>6O<< >FE>44<<. 

5.2 'EFD>=EF6> E?54G5F GF<?<7<D>64FL 6 E>>F65FEF6GNM5< ?G=>F5 
?>6F>D=>= ?5D5D45>F>< >FE>4>6 M?5>FD<G5E>>7> < M?5>FD>==>7> 

>5>DG4>64=<O. 
5.3 �?O ?>?GG5=<O 4>?>?=<F5?L=>= <=D>D<4F<< >5D4M4=F5EL 6 <5EF=O5 
>D74=O 6?4EF< <?< 6 5?<64=L<= ?G=>F E5>D4 >FE>4>6 
 

6. ��$��&���/� ��/��&��,%&�� 

 

6.1 'EFD>=EF6> ?>?=>EFLN E>>F65FEF6G5F FD55>64=<O< &5E=<G5E><E 
$57?4<5=F>6 &4<>65==>7> %>N74  &$ &% 004\2011 «� 557>?4E=>EF< 

=<7>>6>?LF=>7> >5>DG4>64=<O» < &$ &% 020\2011 «-?5>FD><47=<F=4O 
E>6<5EF<<>EFL F5E=<G5E><E ED54EF6», ��%& 30345.0-95 «�57>?4E=>EFL 
5OF>6OE < 4=4?>7<G=OE M?5>FD<G5E><E ?D<5>D>6» < &' 3468-004-5136005-

04. 

6.2 %5DF<D<>4F E>>F65FEF6<O 7 RU C-RU. ��16.�.00966 

6.3 �D><76>4<F5?L 74D4=F<DG5F 55E?5D55>==GN D45>FG 'EFD>=EF64 6 
F5G5=<5 12 <5EOF56 E <><5=F4 ?D>446< ?D< GE?>6<< E>5?N45=<O 
�>FD55<F5?5< ?D46<? �4EF>OM57> $G>>6>4EF64. 
6.4 �4D4=F<O 45=EF6<F5?L=4, 5E?< 44F4 ?>>G?>< 'EFD>=EF64 ?>4F65D645=4 
?5G4FLN < ?>4?<ELN ?D>446F4 =4 74D4=F<==>< F4?>=5 �77>F>6<F5?O < 

=4?<G<< >D<7<=4?L=>7> F>64D=>7> G5>4 <?< 4>7>6>D4 E G>474==>= 44F>= 

?>>G?><. 

6.5 �4D4=F<==O5 >5O74F5?LEF64 =5 D4E?D>EFD4=ONFEO =4 'EFD>=EF64, 
<E?>?L7G5<O5 6 >><<5DG5E><E F5?OE. 
6.6  �4D4=F<==O= D5<>=F =5 ?D><76>4<FEO 6 E?GG4OE: 
     - <EF5G5=<O 74D4=F<==>7> ED>>4; 
     - ?D< E4<>EF>OF5?L=OE D5<>=F4E 'EFD>=EF64; 
     - ?D< ?>6D5645=<OE 'EFD>=EF64, 6>7=<>L<E ?> 6<=5 �>FD55<F5?O; 
     - ?D< =4DGL5=<< ?D46<? ED4=5=<O < FD4=E?>DF<D>6>< 'EFD>=EF64;  
     - ?D< <E?>?L7>64=<<  -� E =5E5DF<D<F<D>64==O< �' EF>D>==57> 
?D><76>4<F5?O.    
 

 

��������!!!  �77>F>6<F5?L =5 =5EUF >F65FEF65==>EFL 74 
?>E?54EF6<O, 6>7=<>L<5 6 D57G?LF4F5 =4DGL5=<< ?D46<? GEF4=>6><, 

?>4>?NG5=<O < M>E??G4F4F<< 'EFD>=EF64, <7?>65==OE 6 44==>< 

DG>>6>4EF65.   
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                    7. ��$��&���/� &���� 

 

�F<5F>4 > E>>F65FEF6<< -�' «�D5<L5D4 $GE4» 380 (E ?4D>75=5D4F>D><) 

FD55>64=<O< &' 3468-004-5136005-04 

 

�G?LF G?D46?5=<O (�')__________________________________ 

 

�5G4FL, 44D5E < F5?5D>= 

$<D<O 3 ?D>446F4 _____________________________________ 

                                 

___________________________________________________ 

                                 

__________________________________________________ 

                                 

___________________________________________________ 

 

�4F4 ?D>446<:         _____________________________________ 

 

 

 

�4D4=F<==>5 >5E?G6<64=<5 >EGM5EF6?O5FEO ?> 44D5EG: 
 

142180 $>EE<O, �>E>>6E>4O >5?., 
7. �?<<>6E>, $45D<G=O= ?D>574, 4,4 

�=>7>>4=4?L=O= F5?5D>=: +7 495 411-99-08. 

e-mail: sales@vvd.su 

http://www.vvd.su  

 

 



 19

 

 

 

 

 

 

 


